FhREHNE
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e 4R 54 68 7R 8A 9A 108 114 128 1A 2R 3R EREE
BN (ERR[H 2| ERR|E 2| EEE|H 2 |ERE|H 2 |ERR|E 2| ERE|H 2| EFE|H 4 |ERE|E 2| ERE| 8 % || F 4| ERE|H 2| ERE |8 2| EEE| B &
R4 1,029] 28,269| 1,061| 29,300 924| 26,042| 1,102 31,328 1,157| 33,146 1,254| 35,555| 1,150| 31,956| 1,156( 32,024 1,163| 32,301| 1,352| 37,221| 1,097 21,655| 1,056 20,989( 13,501| 359,786
R3 1,093| 25,219 970| 23,367 960| 23,498| 1,164 28,796 1,299| 32,614 1,050| 26,399| 1,115| 28,395| 1,036( 26,366 1,231| 31,921| 1,379| 36,154| 1,084 29,712 852| 23,986| 13,233| 336,427
R2 985| 24,318 886| 21,871 868| 21,646| 1,111( 27,474 1,296| 32,418 1,072| 26,769| 1,013| 23,924| 1,045( 24,132 1,045| 23,899| 1,344| 30,263| 1,084 24,537 998| 23,002| 12,747| 304,253
R1 1,023| 25,826 996| 25,113 896| 22,837 910| 23,130| 1,250 31,745 983| 24,738| 1,001| 24,674| 1,172 28,635 1,060| 26,200 1,347 32,907| 1,077| 26,397| 1,011{ 24,879 12,726| 317,081
(m3) (M)

KB 4R 5H 67 7 8A 9A 10AR 11A 128 1A 2R 3A a5t

FHE|R €|FEHAZE |8 £|ER2 | £ |ER2E (N £ |EAZE( N € |EHAE (R @ |EHE|R € |FEHE|N € |FH2 |8 £ |FER2 |8 £ |ERA2 N £ |EA2E(N «|EHAE B £
R4 0 0 19| 3,979 0 0 39| 9,105 0 0 38| 8,837 0 0 30| 6,690 0 0 35| 8,031 0 0 65| 17,233 226 53,875
R3 0 0 21 4,274 0 0 30| 6,690 0 0 34] 7,763 0 0 28| 6,153 0 0 9 3,715 0 0 5[ 3,610 127| 32,205
R2 0 0 22 4,543 0 0 20| 1,905 0 0 29 4,320 0 0 25 5,347 0 0 14| 3,847 0 0 9] 3,715 119 23,677
R1 0 0 17| 3,854 0 0 19 3,907 0 0 18| 3,880 0 0 16| 3,828 0 0 9 3,715 0 0 8| 3,689 87| 22,873




